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1. Which of the following statements describes the Component type of workflow?

A. A workflow that drives software and automated processes without human intervention

B. Can be thought of as one of the goals in a business production process.

C. Can automate a labour-intensive business process for the moment but can integrate new automation
processes as they appear.

D. All of the above

Answer: D

2. In the Interstage BPM Client Architecture, which of the following Ul components presents a list of
processes, process definitions, and work items?

A. Organizer

B. Overview

C. Process/process definition viewer/editor

D. Activity detail view

Answer: A

3. Which of the following correctly describes the 'No Reassignment Mode' of operation for Interstage
BPM ?

A. In this mode anyone who is a current assignee for the activity or a process owner can reassign the
activity to a new set of users

B. In this mode only a process owner can reassign an activity to a different set of user/s

C. In this mode, reassignment is completely disabled

D. In this mode, resassignemt is disabled only for those users who are not process owners

Answer: C

4. Which of the following restrictions are necessary in order for a user to be able modify a template?

(1) The template must be 1o draft mode
{2) The user must acquire a lock on the template from the server
(3) The user must have editing privileges

{4) Changes to the template can only be committed atomically

A.(2), (3)

B. (1), (3)

C.(1), (2, (3

D. (1), (2), (3). (4)

Answer: D
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5. Which of the following items is NOT correct for this type of node?

A. Marks the beginning of a workflow process

B. A process definition may have more than one Start Node

C. Activated by a process instance being started

D. Produces an event on each out-going arrow

Answer: B

6. Which of the following is NOT mode for defining expressions in Interstage BPM?
A. Constant Mode

B. Variable Mode

C. Default Mode

D. Expression Mode

Answer: C

7. Which of the following is not a key feature of Interstage BPM?

A. An enterprise-wide, scaleable infrastructure for handling processes of all types
B. The ability to easily create and modify visual business process models with no programming required
C. A universal to-do list that can be organised and filtered

D. A client-server architecture

Answer: D

8. Which of the following is not a key feature of Interstage BPM?

A. A command line interface for fast access to functions

B. An enterprise-wide, scaleable infrastructure for handling processes of all types
C. A universal to-do list that can be organised and filtered

D. A web-enabled architecture

Answer: A

9. Which of the following is not a key feature of Interstage BPM?

A. An enterprise-wide, scaleable infrastructure for handling processes of all types
B. A universal to-do list that can be organised and filtered

C. A distributed storage system for documents and data

D. Model API that allows both customised applications to communicate with the workflow engine and
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existing products to be workflow enabled

Answer: C

10. Which of the following are industry-accepted types of workflow?

A. Ad Hoc

B. Process Discovery

C. Collaborative

D. All of the Above

Answer: D

11. Which of the following is NOT an industry-accepted type of workflow?
A. Collaborative

B. Process Discovery

C. Inline

D. Ad Hoc

Answer: C

12. Which of the following is NOT an industry-accepted type of workflow?
A. Inline

B. Ad Hoc

C. Process Discovery

D. Collaborative

Answer: A

13. The ability to modify or alter a running process is a key feature of which of the following workflow
types?

A. Production

B. Ad Hoc

C. Process Discovery

D. Collaborative

Answer: B

14. Which of the following statements describes where the use of the Ad Hoc workflow type is most
appropriate?

A. It can be used as a planning tool

B. Its goal is to define a repeatable workflow system

C. Itis used for project management of a large and complex process

D. None of the above

Answer: A
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15. Although the following characteristics are useful in most workflow types, which of them is a key
feature of an Ad Hoc type of workflow?
A. Following stringent predetermined rules that never change
B. Record, organize and refine existing business processes while they are occurring
C. Used to assist in complex decision making where each case may be unique but must be handled in the
correct order.
D. The ability to modify or alter a running process
Answer: D
16. When is the Process Discovery workflow type typically used?
A. Used as a planning tool in which a user may instantiate a process definition only once.
B. Used in those situations where individuals have evolved their job description by on-the-job experience
C. Used to assist in complex decision making where each case may be unique but must be handled in the
correct order
D. Used to ensure that regular business practice adhere to company policy
Answer: B
17. The Process Discovery workflow is a form of what other type of workflow?
A. Ad Hoc
B. Collaborative
C. Administrative
D. Component
Answer: A
18. The combination of sub-processes and process editing features provided by IBPM allow which
workflow types to be supported?
A. Production, Case Handling
B. Ad-Hoc, Process Discovery
C. Production, Component
D. Collaborative, Component
Answer: B
19. Which of the following statements is correct about Collaborative workflow?
{a) A svstem in which the vsers contnuously see updated mformation in real time.
(k) A form of workdlow that mught be used for project management of a large and complicated process, in which
a teams activities are planned for the next time penod. evaluating and modifving the plans periodically along the

way.

A. (a)
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B. (b)

C. (a), (b)

D. None of the above

Answer: C

20. Which type of workflow does the following statement describe?

A system in which the users continuously see updated information in real time.?
A. Production

B. Process Discovery

C. Collaborative

D. None of the above

Answer: C
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